A FAA) 4, A9 B3 %3, 5% 92 F B S|P
- GIH ) 4G T JHY TANE 37 s L,

- 90% o) FIE AP

22 FR 3 FIAY FAA, A34F P AFA L.

- AYS AY BIAY AN T FT HY 23F BE 5 A5,

£ A3

1. 2A1< A4 Vo2 s L. (g ol 53 24§ 37))
2. A 58 AN 2R F I3 X2 2 A9 AFE =,
3. ¥ A4S F2 19 oo B2 ek 3y, FIA] IH < s 3d
2 WA AF2 Y H.
4. 3¢ IANE A} B (A} 55 F)2 8A3Y 3 Jsd 5.
5. 9= d5< 08 AyFJ+.
1) 2= AN 2922 FA3H) 9§42 35
T 2P < B9 B2¥S ¥ RS
3) F8YelY 5B )2 F A3 A5
4) FL= 3 Fo) AP} @2 A5
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}e3 ) 2% 1

[2A4] 1] T8 AAE <T>~<HE g1 BLd FA L.

£2,3,5 F Hol% 1) oge] 2 o] Welnink, U9l ¢
— 1 o)

Ea
g AT B, 59 WEES ¥ CF

<t> n(X)7F A X9 Axel AsE debdviy @ W, n(4) =19, a(B) =18, n(C) =210Ith E 2, 3, 5
Z Aol 27 oo = o] Wolx= o 99 e 230tk mEla 2, 3, 5 REE ol
Holx = U Aie g 50Tk

<tt> A X, ¥, Zol tisiA thsol -
(i) n(XUY) =nX)+n(Y)—n(XNY)
n(XUZ) =nX)+n(Z)—n(XNn2)
n(YUZ) =n(Y)+n(Z2)—n(YNZ)
(i) n(XUYUZ) =nX)+n(Y)+nZ)—nXNY)—nXNZ)—n(¥YNZ)+n(XNYNZ)

= TaAlL. [103]
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. 20(ANB) =nANC)+ n(BNC)EH T ul, n(AUB)Y #& Far12. [104]

. nANB)+1 = n(AN0), n(ANB)—1=nEBNC)E & w, pAN(BUC)Y) 2 e T3A L.

(2, X°= A% X9 PHS vdebdrh) [108]




el ) 2% 2

[E2A4] 2] & AAE <>, <U>E g3 289 @A L.

<7k> #FxHEY 99 A | artbyte=00] F20 RMAWE = n = (g, b)0]T}

<u> Az 99 3 A Plrpy)d A4 L rar+by+e=0 (@ +0 =1)°] Wt d,p = ax, +by, +c2} 32

2-1. A¥HYA 99 F A P2,1), Q(—2,3)0] dA 1 sl AL uj, A 19 WS FahA e, [10%]

2=2. AANE <7k>5 ol &ate], HmAW 919 & A Pa,y)d A Liartbyte=0 (@ +°=1) Atele] A7t |d,|

Y wolA e, [16%]

2-3. FuIW 9 A F PB2, Q-21), RO~V dp+dg+dy=00 HEF s A4 atby=0

@+ =1)9 B44 S 3. [104]




el ) 2% 2

[EA4] 3] & AAE <T>~<HE g1 BLd FeA L.

<7b> g f(O)7F 3 o, ploll M Agolal t=g()7} PIE 7hsd A o, gla)=a, gb) =gl

[ 1w = [ 1oy @iz o1

K

5

o
b

i
-
il
o
ra
b
e
=)
offt
1

< @ 1), gt T o blUA 2ol
S r@wis = e - f el et B

=4 /g )y = agla / f@)d 7k ARABT (&, a>0)
0

0

<t> y=fle)= z =00 Qo= f0)=0, f'(z)>0& RH5ehe dolnt. flo)o] AgE gl@)et & o),

3-1 &5 fG@)7h 0o <1904 A5 W, AAE <Ab>9 sinlr—a) = sine ) & ] §5}e]
" f(si = T bsing) de
/U zf(sinz)dr = 5 fo f(sinz) dz

7 Ades wolA o, [104]

0 (b)
32 =0 AT a=g) ¥ A [ swir =070 ~of@) - [ st BuE o,

(G 0<a<bd<1) [104]

3-3. F(t) /1n1+ Vz)de —at (+=0)8 & u), AAE <d>2 o] &3] F(t)9 A%Ee TS, [153]







